

$$\Delta \cos n = \cos(n+1) - \cos n \rightarrow \Delta \cos n = \cos(n+1) - \cos n \rightarrow \Delta \cos n = \frac{1}{\cos n}$$

$$\Delta \cos n = 1 \rightarrow \cos n = \frac{1}{r} \rightarrow rk\pi \pm \frac{\pi}{r}$$

در ۲

$$\Delta \sin n + r \cos(n) = -1 \rightarrow \Delta \sin n + \cos n - r \cos n = -1$$

$$(1 - r) \cos n + \sin n = -1$$

$$\Delta \cos n - \Delta \sin n - r \cos n + r = 0 \rightarrow (\cos n + 1)(\Delta \cos n - r \cos n + r) = 0$$

$$(\cos n + 1) \rightarrow n = rk\pi + \pi$$

در ۲

$$r \sin(n) \cos(n) + \sin n = 1 \rightarrow \sin n (r \cos n + 1) = 1$$

$$\sin n (r \cos n - r \sin n) = 1$$

$$\sin n (r - r \sin n) = 1 \rightarrow r \sin n - r \sin^2 n - 1 = 0 \rightarrow \sin(n) = 1$$

$$r, rk\pi + \frac{\pi}{r} \rightarrow n = \frac{rk\pi}{r} + \frac{\pi}{r} \rightarrow \frac{\pi}{r}, \frac{3\pi}{r}, \frac{5\pi}{r} \rightarrow \pi + \frac{\pi}{r}$$

در ۲

$$\frac{1}{\sin(\frac{\pi}{r} + rx)} + \frac{1}{\cos(\frac{\pi}{r} + rx)} = 0 \rightarrow \frac{1}{\cos(rx)} + \frac{1}{-\sin(rx) - r \sin(rx) \cos(rx)} = 0$$

$$\cos rx - r \sin(rx) \cos(rx) = 0 \rightarrow \cos(rx) - r \sin(rx) \cos(rx) = 0$$

$$\cos(rx) (1 - r \sin(rx)) = 0 \rightarrow \cos rx = 0 \rightarrow ?$$

$$\cos(x + \frac{\pi}{r}) = \frac{\sqrt{r}}{r} \rightarrow \cos \sin rx = \frac{r}{r}$$

$$m(\cos n - \sin n) = r\sqrt{r} \sin(rx) = \sqrt{r} \rightarrow (m)(\cos(x + \frac{\pi}{r})) = r\sqrt{r} \sin rx$$

$$\frac{r m}{\sqrt{r}} - r\sqrt{r} \sin(rx) = \frac{r}{r} \rightarrow \frac{\sqrt{r}}{\sqrt{r}} m - r\sqrt{r} = \sqrt{r} \rightarrow \frac{m\sqrt{r} - r\sqrt{r}}{r} = \sqrt{r}$$

$$r\sqrt{r} m\sqrt{r} - r\sqrt{r} \rightarrow m = d$$

۵

$$\sin\left(x + \frac{\pi}{4}\right) \cos\left(x - \frac{\pi}{4}\right) = 1$$

$$\sin\left(x + \frac{\pi}{4}\right) \cos\left(\frac{\pi}{4} - x\right) = 1$$

$$\sin\left(x + \frac{\pi}{4}\right)$$

$$\sin\left(x + \frac{\pi}{4}\right) = 1 \rightarrow \sin\left(x + \frac{\pi}{4}\right) = \pm 1 \rightarrow$$

$$x = k\pi + \frac{\pi}{4}$$

$$x = k\pi + \frac{\pi}{4}$$

CT

$$\sin x + \sqrt{r} \cos x = \sqrt{r}$$

$$\sqrt{1+r^2} \sin(x+\alpha) \rightarrow r \sin(x+\frac{\pi}{4}) = \sqrt{r} \rightarrow \sin(x+\frac{\pi}{4}) = \frac{\sqrt{r}}{r}$$

$$\tan \alpha = \sqrt{r} \rightarrow \alpha = 45^\circ = \frac{\pi}{4}$$

$$x = -\frac{\pi}{12}, \alpha = \frac{\pi}{12}, x = \frac{\pi}{12}$$

$$\frac{9\pi}{4}$$

$$\sin x \sin\left(\frac{\pi}{4} - x\right) = 1 \rightarrow -r \sin x \cos x = 1 \rightarrow -r(\sin x \cos x) = 1$$

$$\rightarrow -r \sin(2x) = 1 \rightarrow \sin 2x = -\frac{1}{r} \rightarrow \alpha = k\pi + \frac{\pi}{2} \text{ or } k\pi + \frac{3\pi}{2}$$

$$\frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}, \frac{7\pi}{2} \rightarrow 2\pi$$

$$(1 + \cos 2\alpha)(1 + \cos 2\beta)(1 + \cos 2\gamma) = \frac{1}{14}$$

$$\cos \alpha \cos \beta \cos \gamma = \frac{1}{14}$$

$$(1 + \cos 2\alpha)(1 + \cos 2\beta)(1 + \cos 2\gamma) = \frac{1}{14} \times \frac{1 + \cos 2\alpha}{1 + \cos 2\alpha} \rightarrow \frac{1 + \cos 2\alpha}{1 + \cos 2\alpha} \times \frac{1 + \cos 2\beta}{1 + \cos 2\beta} \times \frac{1 + \cos 2\gamma}{1 + \cos 2\gamma}$$

$$\rightarrow \frac{1}{r} \sin^2 \alpha = \frac{\sin^2 \alpha}{r} \rightarrow \sin^2 \alpha = \sin^2 \beta \rightarrow \alpha = k\pi \pm \beta$$

$$\frac{\pi}{4}$$

$$\tan(\alpha) \tan(\beta) = 1 \rightarrow 1 - \tan(\alpha) \tan(\beta) = 0$$

$$\tan \alpha = \tan \beta \rightarrow \tan \alpha = \tan \beta$$

$$\cos \alpha \cos \beta = 1 - \tan \alpha \tan \beta$$

$$\tan \alpha = \frac{\sin \alpha}{\cos \alpha}$$

$$\cos \alpha = 0 \rightarrow \alpha = k\pi + \frac{\pi}{2} \rightarrow x = \frac{k\pi}{2} + \frac{\pi}{4}$$

$$\frac{\pi}{4}, \frac{3\pi}{4}, \frac{5\pi}{4}, \frac{7\pi}{4} \rightarrow 4\pi$$